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QUESTION 1

You administer an Oracle 12c RAC database whose clients connect to the database instances using SCAN listeners. 

Which two statements are true regarding client-side connect-time load balancing? (Choose two.) 

A. You must add SCAN VIPs to the REMOTE_LISTENER parameter to enable correct listener cross- registration. 

B. Client connection requests are automatically load balanced across the IP addresses defined for the listeners. SCAN 

C. You must explicitly set LOAD_BALANCE=ON in the client-side TNS entry being used. 

D. The LOCAL_LISTENER parameter for each instance must be manually set to point to the node listener on each
node. 

E. SCAN listeners redirect connection requests to a node listener for the appropriate instance. 

Correct Answer: BE 

Section: (none) 

 

QUESTION 2

Your flex cluster has these attributes: 

1. Hub nodes host01 and host02 

2. Leaf nodes host03 and host04 

3. Full Featured GNS is configured and running. 

You attempt to run this command to add two more nodes to the cluster: 

$ ./addnode.sh ?ilent "CLUSTER_NEW_NODES={host05,host06}" "CLUSTER_NEW_NODE_ROLES={hub,leaf}" 

What is the result and the reason for this result? 

A. It fails because no VIP was specified for the hub node host05. 

B. It fails because hub and leaf nodes may not be added by the same execution of addNode.sh. 

C. It fails because GNS doesn\\'t assign VIPs for leaf nodes and no VIP was specified in the command. 

D. It succeeds because no VIP specification is required for leaf nodes and none need to be specified for hub nodes
when using full featured GNS. 

Correct Answer: A 

Section: (none) 

Hub Nodes always have VIPs. 

Incorrect Answers: 
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C: Hub Nodes always have VIPs but Leaf Nodes may not. 

B: Use the CLUSTER_NEW_NODE_ROLES parameter to indicate, in an Oracle Flex Cluster, whether the node you are
adding is a Hub Node or a Leaf Node. 

You can add multiple nodes, as follows: 

$ addnode.sh -silent -noCopy ORACLE_HOME=Grid_home "CLUSTER_NEW_NODES= {node2,node3,node4}" 

"CLUSTER_NEW_VIRTUAL_HOSTNAMES={node2-vip,node3-vip,}" 

"CLUSTER_NEW_NODE_ROLES={HUB,HUB,LEAF}" 

In the preceding syntax example, Node 4 is designated as a Leaf Node and does not require that a VIP be included. 

References: https://docs.oracle.com/database/121/CWADD/clonecluster.htm#CWADD92139 

 

QUESTION 3

Which three statements are true regarding multitenant architecture for RAC databases? 

A. One UNDO tablespace for each PDB is required. 

B. One UNDO tablespace for each instance is required. 

C. PDBs can have local temporary tablespaces. 

D. All the containers share the same SYSTEM and SYSAUX tablespaces. 

E. You can open one, several, or all PDBs on one, several, or all CDB instances. 

Correct Answer: BCE 

Section: (none) 

B: For an Oracle RAC CDB, one active undo tablespace exists for each instance. 

C: From a physical perspective, a CDB has basically the same structure as a non-CDB, except that each PDB has its
own set of tablespaces (including its own SYSTEM and SYSAUX tablespaces) and data files. 

References: https://docs.oracle.com/database/121/CNCPT/cdblogic.htm#CNCPT89268 

 

QUESTION 4

Which two statements are true about ASM default templates? 

A. Default data file templates are only created by ASM when a normal redundancy disk group is created. 

B. Default template settings for redundancy depends on the disk group redundancy. 

C. Default templates for a disk group can be modified. 

D. Default template setting for striping depends on disk group redundancy. 
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E. Templates may be shared across disk groups. 

Correct Answer: AB 

Section: (none) 

Default template settings depend on the disk group type. The default template for data files for a normal redundancy. 

Reference: http://docs.oracle.com/cd/E11882_01/server.112/e18951/asmfiles.htm#OSTMG139 

 

QUESTION 5

A Java application will be deployed, and you must configure a RAC database to support highly available connections.
The application will use the Universal Connection Pool (UCP), and Fast Connection Failover (FCF) must be enabled.
Which two statements are true? (Choose two.) 

A. The application may use the JDBC thin driver. 

B. The ons.jar file must be present in the CLASSPATH. 

C. The ONS daemon must be started on the middle tier running the Java application. 

D. You must configure TAF, either on the client or for the service. 

E. The ONS daemon must be started on the middle tier and client machines to enable FCF. 

Correct Answer: AE 

Section: (none) 
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